Question 11    In training        5 marks 
Senior classes only
Five passengers are going up in the Mont Noir funicular railway. The funicular has two carriages. The five passengers do not know each other. Each one chooses a carriage entirely at random.

We are interested in three ways the passengers can be allocated: all the passengers are in one carriage and the other is empty; four passengers are in one and the other has just one passenger; and three passengers are in one and two in the other.

Work out the probability of each allocation and justify your answer.
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